Α΄ ΚΛΙΣΗ ΟΥΣΙΑΣΤΙΚΩΝ

Να τονίσετε τα ακόλουθα ουσιαστικά της α΄ κλίσης και να βάλετε τις κατάλληλες καταλήξεις.

	ἡ δράκαινα

τῆς δρακαιν………

τῇ δρακαιν………

τὴν δρακαιν………

ὦ δρακαιν………
	αἱ δρακαιν………

τῶν δρακαιν………

ταῖς δρακαιν………

τὰς δρακαιν………

ὦ δρακαιν………


	ἡ ὁμονοια

τῆς ὁμονοι………

τῇ ὁμονοι………

τὴν ὁμονοι………

ὦ ὁμονοι………
	αἱ ὁμονοι………

τῶν ὁμονοι………

ταῖς ὁμονοι………

τὰς ὁμονοι………

ὦ ὁμονοι………

	ἡ θύελλα
τῆς θυελλ ………

τῇ θυελλ ………

τὴν θυελλ ………

ὦ θυελλ ………
	αἱ θυελλ ………

τῶν θυελλ ………

ταῖς θυελλ ………

τὰς θυελλ ………

ὦ θυελλ ………
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